STN7ERCATEFHRBRRFERR

4 |

x®

HE:SfM747R6H(H)
S5 HERNEFERAEEE2REE

(B8 F)

(A—T 550

& 41 L S EEH 4 = F 4 D A E A=Y & F

F—Fv HEHMiEHRE SRS Teae) na 0600 5033 1933 1700 5.867

A—7> HERMEKRC EHREZ  wEEd BAXH - - - - -

(FARFRED

& 41 2R A E T 4 = F £ D A E A=Y & F

E@HD hEAZ
1 MEEMTERA ERFE= Eﬁééfmi_ﬁgz;% 1.900 6.233 4.200 0.000 12.333
[EE=

(BN BARE

I§ 6 EF A BE B4 FOR 4 B E o—7 ) = i
1 (L AR 3k TR R R 3 10.450 10.450 20.900

EANZF BRI 0—7)

IE 6 EF A EBEA OB 4 D A E W om = E
1 LA B 3 EREE RERiiER 2000 4950 3.700 0.200 10.450
2 AOES ERE= R RS 1400 4450 3.000 0.000 8.850
3 HHEHD EREES Rl 1.600 2.000 1.667 0.000 5.267




EARR EBA 957)

|- iv2 EF A BE B 4 OB 4 D A E B om = B
1 RS EREE= HERHiEK 2100 5783 6.233 0.100 14.017
2 L ARE 3} EREE= e T 1600 4850 4.000 0.000 10.450
3 ERIE 3} EREE= SR SR 0.600 4.017 4100 0.100 8.617

BEANFEE B RT499)

& 41 EF A EEF 4 R4 D A E o= a [
1 hE A EREE= e =T 1.000 5383 5233 0.050 11.567
2 HHEA EREE= T 0.800 3.733 2.233 0.650 6.117

(BEAEE B UY)

I§ 6 EF A BB 4 OB 4 D A E o= = B
1 FEE EREE= e e 1.800 5283 5933 0.200 12.817
2 AOES ELol - P T 1100 4500 3.233 0.400 8.433
3 ZHBEA EREE= o e 0.800 4.000 2000 0.400 6.400

EiE PE AR 3 T BT B FEiE EE EE ZiE

= ]| K

RAH R,




